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ECONOMICS

( Honours )

Paper : ECO—HC—3026
( Intermediate Macroeconomics—I )

Full Marks : 80

Time : 3 hours
The figures in the margin indicate full marks
for the questions
Answer either in English or in Assamese

1. Answer any ten from the following as
directed : 1x10=10

oo A [ R @ T Rt ved
fat

{a) What is aggregate demand?

SRS oifEm &2

(b) Express effective demand in a four-
sector system.

FIR Feig wfes Al vifEn a0 |
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(2)

(¢ What is open economy?

7o wAfe & 2

(d) Mundell-Fleming model assumes that

capital is
e -G wfEe e 22T F9 A

(i) perfectly mobile
srpefae T RO

(i) perfectly immobile

SEefae] SoETw RIS

(iii) _imperfectly mobile
SpR{efCet BT fEors

(Choose the correct option)

(m RO 7R Tferean)

(e) What is the shape of long-run Phillips

curve?
Frrae ey (U e @Al ?
e supply function at full

() The aggregat
employment is

o fogas! =T AR G FEC
{ij more elastic -
st ZfeRe
( Continued )
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(3)

(i} less elastic
oy fEfemee
(iii) perfectly inelastic
TR SRR
(Choose the correct option)

6@5ﬁﬁﬁmﬁ§ﬁﬁﬁﬁxmﬂ

(g9 Who develo
ped the purchasi
parity theory? ng power

@Y HIAOR S OGH! (I TS FfafRE 2
{h) Define asset market.

T qERT ] W3l |

(ii What is Capital Account in Balance of
Payment (BoP)?

CETCHA FeTY e f2o1e 1 7
(il At the point of effective demand
2 sife e
(i aggregate demand =
el = aggregate

AWET v = HE s
(i) aggregate demand
>
supply aggregate
AHiET TR > ANEE @
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(4)

(iii) aggregate demand < aggregate
supply
SR B < TS Qe
fiv) Both (i} and (i)
(i) = (iii) TS
(Choose the correct option)

(o Reach! AfR Sfere)

(k) Supply inflation is caused by
IS EFRIRET PRI 2
(i wage push
ECGER e
(il mark-up pricing
RIEEC I RCH
fiii) profit push
Aeq Dl
fiv) All of the above
o[ SHRER

(Choose the correct option)

(wm Rewco! 3ifR Tferen)

{ Continued )

(Y

(mj

(n)

(o)

()
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(5)

The natural rate of hypothesis involves
(i) adaptive expectation

wfecée e
{i) rational expectation

A o
(iii) Both (i) and (i)

(i) S (i) T=q

(Choose the correct‘ option)

(W= Ree Az i)

Write one measure to control cost-push
inflation.

efee JEPHIe forge S 91 TAm o |

Mention the I-S components of
Mundell-Fleming model.

TeA-grfk wif¥e R THmEER
TeE 90 |

Define arbitrage in international
payment.

YEefes smEe wiRGeR A f

What is international financial market?

Haeifes R8N 5" &2
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(r)

2. Answer any five from the following :

RUSIO)

(a)

(b)

(c)
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(6)

Write one criticism of effective demand.

ey w1 el e

The concept of foreign trade multiplier
was developed by

e Al @aFs qRAc] Se R
() R. F. Khan
HE. 97, q9
(i) J. M. Keynes
(®. @F. (T
(i) Samuelson

CRIYCeTReA

(Choose the correct option)

(om Resor A1 Sferean)

fracars om@ R e #Awoe e i :
What is Eurocurrency market?

I JUH T 2

Define natural rate of unemployment.
e engfos 2rea wicw |

What is meant by mark-up inflation?

T -o1e JErFifecy & 3 ?

{ Continued )

2x5=10

(d)

(e)

(g

)

(i

)
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(%)

Write the reasons for inverse
relationship between inflation and
unemployment.

meﬁwﬁﬁ—mﬁﬁm
PR R0

Mention two assumptions of Mundell-
Fleming model.

oo -Grig SIfEq 151 SfSHRen Teas 41 |

Define effective demand.

ey viferm g e |

What are the determinants of
equilibrium rate of interest?

I R 2R e 6 750

In what way expectation influences the
rate of exchange?

oI T 490e1 1R AT SIS e 2

Mention two limitations of adaptive
expectation.

Sfecee aems ¥o1 Mael Teas 4 |

What is foreign trade multiplier?

AP e weF 62
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3. Answer any four from the following :

{ 8]

aniﬁmvmaavaﬁiaﬂaﬁsﬁ%ﬁaiﬁmi%m:

fa)

(b)

()

(d)

(e}

A23/179

Explain briefly the monetary approach
to Balance of Payments (BoP).

T MOR (BoP) @IS qfdesie Raw

TYLF I T

Write a note on Dornbusch’s

overshooting model.

T SeEpe Sf¥GR eome bl G
feran o

Distinguish between spot and forward
exchange rate.

= W TEE R T e el
MRS |

Briefly explain the components of
international financial market.

SgEfeT [ @ T TomEez BE e
SRl

How does natural rate hypothesis
explain the unemployment-inflation
relationship?

AT 2T W e W qurifa
FTRECE] (A I A, oo

{ Continued )

5x4=20

1

(g)

h

4. Answer any four from the following :

(9)

What are the prerequisites of Keynesian
theory?

T O Tz K 0

What is aggregate supply? How does
aggregate supply curve 'determine in
Keynesian economics?

A @ B @R weife AN
A @41 f9%es fefiqer 541 237 9

Explain the concept of demand-pull
inflation.

O qfawfe YErRRes 4—ah! 2 4 |

we e TR 11 R e viftR See o -

{aj

(b)
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What is rate of exchange? Explain the
determination of equilibrium rate of
exchange.

R == &9 S R 79 R Ry
P92, I A0

Explain critically the
expectation hypothesis.

Afes  sromm R BRIz i Tt
QAT 40 1 :

rational

{ Turn Over )
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2+8=10




()

(d)

(e)

( 10 )

Explain the asset market approach to
determine exchange rate.

Ry 79 e SRt Tom TEEE qEen

T 40

Establish the relationship between
foreign trade multiplier and marginal
propensity to import.

e AR e wie At S
HAGISR NG o BIee T4 |

Discuss the Mundell-Fleming model in
terms of monetary fiscal mix policies
under fixed exchange rate with perfect
capital mobility.

sy vee e ore &3 R 29w

- eeE-grie (N S Fraesiae e Mo

(]
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EIRISEIR

determination of
employment

Discuss the
equilibrium  level of
through effective demand.

ﬂmmﬁm@ﬁmm'mﬁww
/e 91 24, SCEIs

Examine the police effectiveness of
Phillips curve.

fefeiol @A oo IS AR_TH F |

( Continued )

(11

(h) Explain the purchasing power parity

()

G
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theory of exchange rate.
AT T T HHOR TS TGO I F4 |

Explain the determinants of aggregate
demand.

STfE BIfRe e R 40

Explain the factors that cause
fluctuation in the exchange rates.

R z9e wkgor i 91 IREHE IR
41 |
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